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66b (2 1wn) > 68a (108 20 1205 7175 POMY)
Note: a 10 91 1521 (and, by extension, a 9177 1277 that died without 7j7250) generates limited ANPIV - only 7¥25377 1’33,
Note: a 1377 which has been properly processed and is now available to any group (even if just 7072 »151) is no longer subject to 752yp

I 7 mwn: status of the above (range of valid/invalid 9)9n mM117p in 3-8 NIWN) vis-a-vis nY>»an n¥a kML and nY’yn
a  Inall cases: n'»yn still applies, with the exception of a properly performed nxon

IT 7 mwn: dispute »1/8" in case of 9n N9y performed in place (below), method and with intent of nxkon
a  R™:nYyn attaches
b ywi '3 n%yn does not apply (just as in case of properly performed nron)

1

arguments:
1 a77if a nron, which if done nnwY, carries no nYyn, yet if done NnWYH R5W carries NHyn
(a) Then certainly: an ny, which if done nnwY, carries N yn, will attach n%yn if done NNYH RHw
2 s (block 17): in case of nRvn, it was done with intent of a j279p which attaches n»yn
(a) Unlike: our case (nkon nwy n%y) which he did with intent for a j29p which does not attach n%yn
3 N1 (response): wTp *w1p slaughtered in south »%p Dw1p W) disprove it:
(a) Premise: he changed it to something without n%yn, yet n%yn still attaches
4 »73(block): in that case, he changed the n% to be slaughtered nw? something of which some has n%»yn
(p1mR) and some does not (1w1); unlike our case where all of 913yn nrRoYnN is eaten

¢ An7a(continuation or alternative version of dispute)

1

ii

iii
iv

~77.if an DWR, slaughtered in north DN5w WY still attaches nY'yn,
1 Then: an n%y, even though he did nxon nw5 npron, still attaches nHyn
»73 (block): in that case, he didn’t vary the location (north)
1 Unlike: our case, where he performed it below (nxon mpn)
N77(defense): an DWR, slaughtered in south nnw DWY, still attaches nYyn
»73 (block): in that case, he varied the intent and location — but not the procedure (nvmwv)
1 Unlike: our case, where he varied intent, location and procedure (njp’>n — or nxrrn)
Observation (X27): R could have retorted — nWR slaughtered in south 0'n%w nYY and whya Mmwa
1 Where: he varied all three — yet there is n2’yn — would dismantle »’s block
2 However: since he didn’t respond this way—> ®" understands »’s reasoning;:
(a) Per:737x 92 878 ’T. »"'s rationale is that once an n% has been performed below, nkon ow? and one 120
has been cut — it is not redefined as a nxon
(i) Challenge: 3:3 n1p — when 2 m19v bring a 1p together, one bringing a 91yn nxon, the other an n%y
1. If: he performed both above or both below, ¥ are w3
2. But if: he performed 1 above and 1 below, both are %10a — we assume he “switched’
a. But:according to ®”ar3, 1 should allow both below (as mxvn)
b.  Defense: " only allows when it is the same owner
(ii) Challenge: 7:3 ©1p — if 2 birds, a NNV 1p (unspecified) and nwMon jp were brought by 2 women
1. And: as per series of possibilities above — if he brought Y2 above and %2 below — only nminv is val-
id and it is split between them
a.  But:according to X"ar", 1 should permit nwman — as N9y becomes nron
i.  And:we can’t suggest that that nywn doesn’t follow 9, as "1 ©1p ono (from last nwn)
b.  Answer: ™ considers it nkon for purposes of n>yn (no n%’yn) but not for fulfilling the nan
(b) Challenge: if so, when a 91n nron is performed above N5 nwY, once he cuts 1 >0, should be 9 1vn Ny
(i) And: this is not the case, as per 3N 1’s comment on our NIWN — MWV SV NYXN RN T2
1. Presumed meaning: the only dispute is the one explicated in nwn (121 NRON VS VRS NHY)
2. Proper meaning: just as they disagree there, they disagree about the inverse case (121 nYyn> nxon)
(if) Answer (wn "): two cases are not analogous
1. In our case: once he performs np*on below, it becomes nxron
2. In that case: since nron was performed NnNYY XY, it’s Y01 — when he cuts 24 1no; since npYon is
valid anywhere, can’t be “revalidated” as nw
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